
Slow Release Nitrogen {SRN) Calculation 

To calculate the percentage of SRN, divide the percentage of Slow Releasing Nitrogen available by the 
Total Nitrogen (found on the Guaranteed Analysis of the bag) and multiply by 100. 

In this example 7/14 x 100 =50% 

REMINDER · NO FERTILIZER MAY BE APPLIED FROM JUNE lST · SEPTEMBER 30TH 

GUARANTEED ANALYSIS 

TOTAL NITROGEN (N) ......................... ~ 

14.45o/o Urea Nirtogen (N)"' 

SOLUBLE POTASH (K20) .......................... 26.00 % 
SULFUR (S) Total.................................... 19.70 % 

I0.50% Free sulfur (S) 
9.20% Combined sulfur (S) 

IRON (Fe) Total ...................................... 0.96 % 
0.19% Water Soluble Iron (Fe) 

MANGANESE (Mn) Total.......................... 0.48 % 
0.1 %Water Soluble Manganese (Mn) 

Nit rogen N DERIVED FROM: Polymer Coated Sulfur Coated 
Urea, Sulfate of Potash, Iron Oxide, Manganese

Phosphorus Oxide. 

Potash K 0 CHLORINE (Cl) Max ................................ 2.00°/o

2

*7.00% Slowly Available Urea Nitro en om 
Polymer oate u ur oated Urea. 


